LLM SEMESTER 1

SESSION 2023-24

[GRA
Roll No |Name Deliv. | Attd. 75% | Shortage INDIVIDUAL 65% SHORT
1201/23 |Aarzoo
49 31 37 P1=2
1202/23 |[Akash Chechi
49 28 37 P1=5 P2=1
1203/23 |[Abhishek Malik
49 27 37 P1=5
1204/23 |Aditi Singh Rana
49 30 37 P1=6
1205/23 [Amandeep
Singh 49 33 37 P1=2 P2=1
1206/23 |Arshdeep Kaur
49 27 37 P1=8
1207/23 |Arleen Kaur
Walia 43 33 32 P1=2
1208/23 [BRIJESH KUMAR
JANGRA 49 24 37 P1=9 P2=1
1209/23 [CHEHAK
KHURANA 107 92 80 P1=3
1211/23 [DEEPSIMRAN
KAUR 49 29 37 P1=2 P2=2
1212/23 [EKAMJOT KAUR
71 48 53 P1=7 P2=2
1213/23 |Gagandeep
Singh 85 56 64 P1=11  |P2=2
1214/23 |GURKIRAT
SINGH 49 22 37 P1=8 P2=4
1215/23 |Gurleen Kaur
49 29 37 pP2=2 P3=2
1216/23 [Harshveer Sohal
49 28 37 P1=3 P2=3
1217/23 |[Ishita Jain
49 20 37 P1=7 P2=3 P3=2
1218/23 [Jasmanpreet
Kaur 107 | 89 80 P2=2
1219/23 |Jaspreet Singh
49 24 37 P1=5 P2=3
1220/23 [Jayant Janewa
49 31 37 P2=2
1221/23 [KHUSHPREET
SINGH 49 29 37 P1=3
1222/23 (Kritika
49 24 37 P1=9
1223/23 [Kulwinder Singh
49 27 37 P1=4 P2=1




1224/23 [Kunal Mittal
49 33 37
1225/23 [Madhav Mittal
49 26 37
1226/23 [MANAVI
MAHAJAN 49 34 37
1227/23 [Monalisa
49 28 37
1228/23 [Navdeep
49 25 37
1230/23 |Prerna Gupta
49 22 37
1231/23 [RAHUL VERMA
49 26 37
1232/23 [Ritik Gupta
49 25 37
1233/23 [RUHANI
SHARMA 49 21 37
1234/23 [Sahil Puhal
49 19 37
1235/23 [SAKSHI ARORA
49 24 37
1236/23 [SAVREEN KAUR
49 34 37
1237/23 |Shrishty
Chauhan 49 36 37
1238/23 |Shruti Singla
49 20 37
1239/23 [Shubham Maini
107 88 80
1240/23 |[Supriya
Aggarwal 49 27 37
1241/23 |[Tanish Dahuja
49 24 37
1242/23 |Tejinder Singh
49 30 37
1243/23 |Bhavnish
49 34 37
1244/23 |Balkaran Singh
49 27 37
1245/23 |Mridhul
49 36 37
1246/23 |Gaurav Sharma
49 16 37
1247/23 |KRITIKA
BEDWAL 107 82 80
1248/23 |JASHANPREE
T SINGH 49 19 37
1249/23 |EKAM BRAR
49 20 37
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1250/23

MITALI
SINGH

1251/23

MAYANK
KALRA

P1=3

P2=9

P1=1




